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QUESTION 1

The iSCSI protocol is mapped on the TCP protocol. For a TCP encapsulation of the iSCSI protocol packet, which of the
following parts are not included? 

A. TCP Header 

B. IP Header 

C. ISCSI Header 

D. ISCSI data 

Correct Answer: B 

 

QUESTION 2

In OceanStoe VIS6600T delivery scenarios, multiple vendors are often protected. To avoid unpredictable compatibility
issues during project implementation you need to collect compatibility information before the project is implemented.
The compatibility information collected below is in accordance with the specifications. (multiple choice) 

A. The host operating system version is AIX 

B. Fiber switch manufacturer model brocade 300, version v6.3.1a 

C. Storage vendor HITACHI, model number and version ASM 2500,0897 / H-Z 

D. The host HBA card manufacturer and model: Emulex LPe11002 

Correct Answer: BCD 

 

QUESTION 3

When a customer uses simpana software, CS can not start normally and you need to recover the CS. Which of the
following situations will cause the restoration to fail? 

A. The backup server and the media server can not communicate properly. 

B. The link between the backup media and the media server is down. 

C. Backup server SQL database failure. 

D. DDB is abnormal. 

Correct Answer: C 

 

QUESTION 4

Which of the following are the basic principles of storage troubleshooting? (multiple choice) 
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A. Locate the exterior first, then the interior 

B. First perform an alarm analysis, then use the replacement method 

C. First find the high-level alarm, then the low-level alarm 

D. Find the common first alarm, after the individual alarm 

Correct Answer: ACD 

 

QUESTION 5

An administrator creates 2 libraries (Library#1, Library#2) in Simpana CommCell console, and creates a storage policy
Policy#1 using Library#1 to store backup data. Now the administrator wants the backup data to be stored in both
Library#1 and Library#2 in turn. So, how to configure the storage policy to meet the requirement? (Choose two.) 

A. Adding Library#2 as the library for Policy#1. 

B. Setting Data Paths to "Use Alternate Data Paths" mode. 

C. Setting Data Paths to "Round-Robin between Data Paths" mode. 

D. Setting Data Paths to "Use preferred Data Path" mode. 

Correct Answer: AC 
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